normalized X?

[ normalized x? probability |

10

1072

107

10

107

Entries

=

0.9
0.8
0.7
0.6

o
)
T T T T

Entries

Entries
= | Mean
Std Dev.

—6
1079

Ratio

05fF--:-

Ratio

2 4 6 8 10 12 14 16 18 20
2

010203040506070809 1

Prob(x2)

_original_stepZ__pi _etaZp0ioZp5
DOM_mkFit_step2__pt200_eta2pOto2p5
DQM_angle_step2__pt200_eta2p0to2p5
DQM_fast_step2__pt200_eta2pOto2p5
DQM_pixelCPETemplate_step2__pt200_eta2p0to2p5

< X2/ ndf >

o

<o

Ratio

< X2/ ndf >

< X2/ ndf >

Ratio

Ratio

<o pTIpT > (Yo)

Ratio

1 10 10? p103
T

TI pT > (Y0)

-0.2)
-0.4F
-0.6F
-0.8F

0 1 2 3
TP n (PCA to beamline)

i
T T[T [T [T T I [T TIT T

1072 107
AR(track, jetg)



	Contents
	Page 1


